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) Write the foliowing os mililitres

(@ MOmie= MO0 mi () 2360mi= 4380 ml (0 3 600mi = 8OO0 o
) MN5mi= YWY mi () 51709mi« 0V ml (0 71820mi= 1520

CHAPTER Qg

@ Write the llowing os itres and mililitres
@ 1250mi= 1 W m @ 185me | 1 08 ml ,B'
) 4080mle« T | W wm @ SOOmie 3 1 b m

@ Wrize the following as mililitres
@ H= W0 mi @) fe I m @@ A« 0 miid H- 0 o
@ M= B0 () He W m (g We 0 m 0 38~ 5200

@ What fraction of a litre are the following?

@ 200mi= 3 1| @) S00mi= 15 | © WOml= = |
(d 700mi = = | @) 2S0Oml= % | 0 100mi= & |
1 4 1

®@ 300m«"TY @ 2750mie 1T | (© 3500mie- 37 |
> 1

(d) 2250mi= 9% | () 1800ml= ! = | 0 4900ml- 18 |
@ Wrize the following as litres using the decimal point

(@ 1326mi= 1306 () 2435ml= 435 (& 3700mi= 37 |

() 4750mi = % 1 (&) 3400ml= 3T | (6 400Gmi - % 909,

@ Write the following as millilares
@) 1NN= O m () 598l= 180 ml (0 386l 35460 mi
d S0 = % mi (¢) 690 = (00 mi N 703« 1830 mi

@ Curcle the smaller amount in soch pair )
@ 2ot  ® {2 © l!l,@ @ §240mh 33
o) 25.0050m) (0 3AG300mM) (@ (3A0)3T10m 00 (4750044
—— e - \_/ ——

@ What must be added 10 each amount to make 8 ltres?

@ &2 R e @ 28 5 1 0
@ 274 9 W @ 3% ¥ 1 W0
@ 1655 & 1 30 . M SH J 1 W0 m



| ml I ml I ml | mi I ml
()@ 325 M 2740 © 1975 () 4764 (o) 58535
+2 750 + 1 650 + 3285 + 3678 + 4679

e S Mo 5 2bb fys 2 10 37%

| | | [ | [
2)(a) 238 ) 395 (@ 436 (@ 590 (@ 458 (B 603

+ 369 + 1aq + 285 + 395 + 565 *'2.“
b 534 [T 4 49 v 13 402

ak | mi ( m | ml | ml | ml | ml

(3/ta) 3250 ) 4510 (@ 519 (0 6355 () 7 SO O 9 &00

- 1 855 -2 758 - 3 587 - 4597 - 4295 - 6 855

155 1356 604 175¢ 1155 IS

l I [ | { !
it 458 M) 675 (© 560 () 786 (& 95 (0 904

- 295 - 389 -275 - 398 - 685 - 7.95
. . 145 148 265 10
” | mt | mi | mi I ml L ml
(#)() 4395 ) 5450 (9 3875 (&) 639% (o) 4905

x5 x 2 * b

* 3 x 4
nus %00 19375 11742 29430

(®)ta) 337 () 598 (© 405 (& 68 (& 790 () 809
x 9 x5 x 8 x 7

* 4 x 3
m Biﬁ‘-: n -5 3» 3 b3 1 ﬂm'
| | |
7) (@ 2[_5_3& (b) 4| e 31 qm (d) bggrq (o) 5[2 §§_q
EItLY m 1593 5964 470

(0) @ 311161 ) 4[27.061 () 5042750 (&) 7\ 48791 (o) 6| 50.041
153 1% 8 § 55 L97 8 34

@ The content of a 13 bottle of water were divided equally
among b children, How much water did each ch n«wn’ %0 mil

@ The total capacity of these 3 conxolnmu 358!
What s the capacity of the can?

(@) How many 300ml glasses can be ﬂll«l out of a 2.5 bottle of ml«?
(b)  How much water will be left over? ol .




e

(1 ) What is the totol capacity of these 3 containers? I mmlg aﬁ

(2] Annette had 7 lisres of milk in her fridge on Monday morning. The fomtg used
21 650ml on Monday and 3.751 on Tuesday How much milk was left? “ml

@ How much juice s contaned in o bpack f each carton contains 325ml? m

oy 450 m
7 @ Which is greater, () or (b), and by how much?
i (@ (7251 + 5) %8 or () (168 - 2950 + 4l B50mI
. b & greater by (100 mi

@ James used 101 750ml of petrol travelling to Belfast and 104l on the returm journey

(a) How much petrol did he use going to and from Belfast? A1 | ml
(b) I the tank contained 12 11 when he reached home, — -
haw much petrol was in the tank when he left Belfast? i~ S -'w"‘ml

Patrol & sold at €119 per litre. What did the petrol for the journey cost? G_

(c)
@ (@) Weite the correct amount in millilitres under each milk carton
(0 Carton D contains & of milk. o )—y’ o
(il Carton E contains 3 times as much as carton A, {? ,' \: 1
(i) Carton B contains 011 of milk s
(y) Carton F contans twice as much as carton B and
4 umes as much as carton C,

A@ 8@ C@ D@ [@ F@
D250ml |0 50 400 150 200

— v

(b) What must be added to each carton to make 1 litre?
A SO0 g 0T, ¢ W m
D MU E 350 m Fos0 m
(c) The contents of corton elT + carton v | 1 litre
(d) The contents of carton . 2 + carton ‘m - ¥ btre
(&) The contents of carton 0 scarton T -4
(0 The contents of carton 4 & carton s corton ¥ = D5l

C
‘ (g) The contents of carton 4 s carton D ~carton 8 =}



CHAPTER
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Choose possible, impossible or cortain to match these pictures and sentences

(a) Joanne will score a goal (b) Peter will score 7 on
1 roll of the dice

i &

foSSihLL impesaihle
(c) Jack is taller than John {d) It will rain befare the
children home
Jack l
ﬂ Jahn

-l Wi *“d“«'o’l‘.l':'

(€)  Aine has written the (0 This baby will climb to
correct answer the top of the Spire

LLILLI MEONS 1AL
(@) Claires dad & 2 years (W) This lady s hding o
older than she s bus behind her back
,.m?; mpsibLe
@ It is 830 now It will () Nora has a kve giraffe

be 900 in 30 minutes in her schoolbag




